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FINAL ANSWER KEY

Paper: LD TYPIST KKB
Date of Test 09-04-2024
Question1:-Which one of the following pairs (Rivers and its tributaries) is not correctly matched?
A:-Tapti - Aner

B:-Ganga - Sone
C:-Mahanadi - Girna
D:-Narmada - Heran
Correct Answer:- Option-C
Question2:-Which of the following statements are correct about Alluvial Soil in India?
(i) Highly Fertile Soil
(ii) Khadar is the Old Alluvium and Bhangar is the New Alluvium
(iii) Mostly found in Deltas and River banks
A:-(i) and (ii)
B:-(i) and (iii)
C:-All of the above
D:-(ii) and (iii)
Correct Answer:- Option-B
Question3:-Match List-l with List-Il and choose the correct answer from the code given below:
(i) Premchand (a) Panchalisapadham
(ii) Vallathol Narayana Menon (b) Rangabhumi
(iii) Subrahmanya Bharati (c) Indiayude Karachil
(iv) Vishnu Krishna Chiplunkar (d) Nibandha Mala
A:-(i)-(b), (ii)-(c), (iii)-(a), (iv)-(d)
B:-(i)-(d), (ii)-(c), (iii)-(a), (iv)-(b)
C:-(i)-(c), (ii)-(b), (iiD)-(a), (iv)-(d)
D:-(i)-(d), (i)-(a), (iii)-(c), (iv)-(b)
Correct Answer:- Option-A
Question4:-Which of the following statements are correct about Rowlatt Act?
(i) Arrest an Indian without any warrant
(ii) Detain any British indefinitely without trial
(iii) Conduct trials in special tribunals
(iv) Deny the right of appeal petition
A:-All of the above
B:-(i), (ii) and (iii)
C:-(i), (iii) and (iv)
D:-(i), (ii) and (iv)
Correct Answer:- Option-C
Question5:-Who among the following leader that organised an anti war march from Marankulam to Kulathoorkunnu?
A:-Thycaud Ayya
B:-Kumara Guru
C:-Pandit Karuppan
D:-Dr. Palpu
Correct Answer:- Option-B
Question6:-Match the following and choose the correct answer from the code given below:
(i) Begum Hazrat Mahal (a) Kanpur
(ii) Maulavi Ahmadullah  (b) Arrah
(iii) Tantia Tope (c) Faizabad
(iv) Kunwar Singh (d) Lucknow
A:-(i)-(a), (ii)-(c), (ii)-(b), (iv)-(d)
B:-(i)-(c), (ii)-(a), (iii)-(d), (iv)-(b)
C:-()-(d), (ii)-(c), (iiD)-(a), (iv)-(b)
D:-(i)-(d), (ii)-(c), (iii)-(b), (iv)-(a)
Correct Answer:- Option-C
Question7:-Who is the Runner Up of Santhosh Trophy Football 2022-23?
A:-Karnataka
B:-West Bengal
C:-Meghalaya
D:-Odisha
Correct Answer:- Option-C
Question8:-Which among the following are not correct about poverty alleviation programmes?
(i) Mid day meal programme
(ii) National Rural Livelihood Mission
(iii) Integrated Child Development Programme
(iv) National Family Benefit Scheme
A:-(i), (ii) and (iii)
B:-(i) and (iii)
C:-(i) and (ii)
D:-All of the above
Correct Answer:- Option-D
Question9:-Sakthan Thampuran Palace originally known as:
A:-Kottayil Kovilakam
B:-Kacheri Malika
C:-Bastion Bungalow
D:-Vadakkechira Kovilakam
Correct Answer:- Option-D
Question10:-Which of the following statement is/are correct about the Republic Day - 20237
(i) Abdel Fattah El Sisi, President of Iran was the Chief guest
(ii) Beating Retreat Ceremony marks the culmination of the Republic Day celebrations.
(iii) The Theme of the tableau presented by Uttarkhand is 'Manskhand'.
A:-(i) and (iii)
B:-(ii) and (iii)
C:-Only (i)
D:-All of the above
Correct Answer:- Option-B
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Question11:-Which one of the following is text styling feature of MS Word?
A:-Word fill
B:-Word Art
C:-Word colour
D:-Word font
Correct Answer:- Option-B
Question12:-Which menu contains Symbol option in MS Word?
A:-tools
B:-table
C:-format
D:-insert
Correct Answer:- Option-D
Question13:-Which feature is used to create a newspaper type document?
A:-Tables
B:-Tab stops
C:-Columns
D:-Bullets and numbering
Correct Answer:- Option-C
Question14:-What is the purpose of undo action in MS Word?
A:-Restore previous action
B:-Get the current action
C:-Goes to previous page
D:-Goes to previous paragraph
Correct Answer:- Option-A
Question15:-Where does the file name of the active document displays?
A:-title bar
B:-task bar
C:-menu bar
D:-status bar
Correct Answer:- Option-A
Question16:-Which of the following is an example of an output device?
A:-Keyboard
B:-Mouse
C:-Printer
D:-Scanner
Correct Answer:- Option-C
Question17:-Which of the following is an example of system software?
A:-Microsoft Office
B:-Google Chrome
C:-Windows 10
D:-Photoshop
Correct Answer:- Option-C
Question18:-What is the capacity of a typical DVD?
A:-700 MB
B:-4.7 GB
C:-25GB
D:-50 GB
Correct Answer:- Option-B
Question19:-Which of the following is the latest type of scanner technology?
A:-Flatbed
B:-Sheet-fed
C:-Drum
D:-3D
Correct Answer:- Option-D
Question20:-Which is not search engine?
A:-Google.com
B:-Yahoo.com
C:-Facebook.com
D:-Bing.com
Correct Answer:- Option-C
Question21:-Which of the following is an example of firmware?
A:-Windows 10
B:-Google Chrome
C:-BIOS
D:-Adobe Photoshop
Correct Answer:- Option-C
Question22:-Which of the following is a popular open-source browser?
A:-Safari
B:-Edge
C:-Firefox
D:-Internet Explorer
Correct Answer:- Option-C
Question23:-Which of the following email services is owned by Microsoft?
A:-Yahoo Mail
B:-Gmail
C:-Outlook
D:-iCloud Mail
Correct Answer:- Option-C
Question24:-What does "CC" stand for in an email?
A:-Carbon Copy
B:-Close Connection
C:-Count Characters
D:-Central Control
Correct Answer:- Option-A
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Question25:-Which of the following is not a feature of Instagram?
A:-Posting short messages to followers
B:-Sharing photos and videos
C:-Live video streaming
D:-Professional networking
Correct Answer:- Option-D
Question26:-What is the name of the built-in antivirus software in Windows?
A:-Norton
B:-McAfee
C:-Avast
D:-Windows Defender
Correct Answer:- Option-D
Question27:-What is the primary language used for creating websites?
A:-HTML
B:-Python
C:-Java
D:-C++
Correct Answer:- Option-A
Question28:-What is the shortcut key to justify a paragrah in MS Word?
A:-Ctrl + )
B:-Ctrl + Q
C:-Ctrl + R
D:-Ctrl + T
Correct Answer:- Option-A
Question29:-How can you insert a picture in Word?
A:-Click on the "Insert Picture" button on the Insert tab and select the desired image file
B:-Drag and drop the image file onto the Word document
C:-Copy and paste the image from another program
D:-All of the above
Correct Answer:- Option-D
Question30:-Which feature is used to modify the shape of the text in MS Word?
A:-Clip Art
B:-Word Art
C:-Graphics
D:-Hyperlink
Correct Answer:- Option-B
Question31:-In word document, the test behind the content of the page is
A:-behind text
B:-water mark
C:-paragraph text
D:-background text
Correct Answer:- Option-B
Question32:-How do you cut the selected text?
A:-Ctrl+X
B:-Ctrl+T
C:-Ctrl+C
D:-Ctrl+Y
Correct Answer:- Option-A
Question33:-To include a large capital letter in the beginning of paragraph we can use
A:-Word Art
B:-Drop Cap
C:-Insert Cap
D:-Header
Correct Answer:- Option-B
Question34:-Which symbol in Excel indicates the content in the cell is a formula?
A:-#
B:-@
C:-$
D:-=
Correct Answer:- Option-D
Question35:-Which option is used to display series of numeric data in a graphical format?
A:-Macro
B:-Pivot table
C:-Chart
D:-Table
Correct Answer:- Option-C
Question36:-A data summarization tool in Excel is
A:-data forms
B:-pivot tables
C:-macros
D:-data validation
Correct Answer:- Option-B
Question37:-Which function is used to perform repeated tasks in Excel?
A:-Sorting
B:-Formula
C:-Macros
D:-Data validation
Correct Answer:- Option-C
Question38:-What will return the function in Excel = MID ("GOD IS GREATE", 2,3)
A:-GREA
B:-OD IS
C:-GOD
D:-OD
Correct Answer:- Option-D
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Question39:-Which option in MS Excel is used to display the rows that meet certain conditions?
A:-Sort
B:-Find
C:-Filter
D:-Format
Correct Answer:- Option-C
Question40:-Which key is used to make multiple lines in a single cell?
A:-Tab + Enter
B:-Ctrl + Enter
C:-Shift + Enter
D:-Alt + Enter
Correct Answer:- Option-D
Question41:-Which shortcut key is used to create new presentation in power point?
A:-Ctrl + P
B:-Ctrl + N
C:-Ctrl + M
D:-Ctrl + X
Correct Answer:- Option-B
Question42:-Which one of the following is extension of power point 2007 presentation file?
A:-.potx
B:-.pptx
C:-.ppsx
D:-.ppt
Correct Answer:- Option-B
Question43:-Which tab contains the commands for inserting shapes and diagrams in PowerPoint?
A:-Home
B:-Insert
C:-Design
D:-Animations
Correct Answer:- Option-B
Question44:-Which tool allows user to select different layout for slide?
A:-Bullets
B:-New slide
C:-Slide layout
D:-Apply design
Correct Answer:- Option-C
Question45:-Which of the following is used to organize slides in a particular order in PowerPoint?
A:-Slide Transition
B:-Slide Layout
C:-Slide Master
D:-Slide Sorter view
Correct Answer:- Option-D
Question46:-How can you quickly duplicate a slide in PowerPoint?
A:-Press Ctrl+C and then Ctrl+V
B:-Right-click the slide and select "Duplicate Slide"
C:-Press Ctrl+D
D:-Both (2) and (3)
Correct Answer:- Option-D
Question47:-Which of the following is not a feature of the "Design" tab in PowerPoint?
A:-Themes
B:-Colors
C:-Fonts
D:-Animations
Correct Answer:- Option-D
Question48:-Which of the following shortcut key is used to stop the slide show?
A:-Esc key
B:-Ctrl + O
C:-Ctrl + N
D:-Ctrl + K
Correct Answer:- Option-A
Question49:-Which of the following fill effects can be used to fill the background of the slide?
A:-Picture
B:-Gradient
C:-Texture
D:-All of the above
Correct Answer:- Option-D
Question50:-Which of the following is the shortcut key used to start the presentation from the current slide?
A:-F5
B:-Shift + F5
C:-Ctrl + F5
D:-None of the above
Correct Answer:- Option-B
Question51:-Which Typewriter Company adopted "QWERTY" Keyboard for the first time?
A:-Godrej
B:-Halda
C:-Facit
D:-Remington
Correct Answer:- Option-D
Question52:-The different methods of typing are
(i) Touch method
(ii) Sight method
(iii) Blind method
A:-(i) and (ii) only
B:-(ii) and (iii) only
C:-(i) and (iii) only
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D:-All of the above
Correct Answer:- Option-D
Question53:- helps the paper does not fall on the keyboard.
A:-Detent Release
B:-Overhead paper bail
C:-Carriage release lever
D:-Variable line spacer
Correct Answer:- Option-B
Question54:-The hard type brush is used to clean
(i) the Type face
(ii) in to and fro direction
(iii) the feed rolls
(iv) from left to right
A:-(i) and (ii) only
B:-(iii) and (ii) only
C:-(iii) and (iv) only
D:-(i) and (iv) only
Correct Answer:- Option-A
Question55:-Which of the following is not directly related with Rocker Mechanism?
(i) Pinion wheel
(ii) Escapement wheel
(iii) Carriage rack
A:-(i) and (ii) only
B:-(ii) and (iii) only
C:-(i) and (iii) only
D:-None of the above
Correct Answer:- Option-D
Question56:-Step by step movement is possible when
Which of the following statement is true for the above mentioned?
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Statement (i) : The carriage moves by half a degree when the loose dog leaves the tooth of the Escapement wheel.
Statement (ii) : The pressure of any key is removed, the rigid dog leaves the tooth and loose dog catches the next tooth of the escapement wheel.

A:-Statement (i) only
B:-Statement (ii) only
C:-Both statements are true
D:-Both statements are false
Correct Answer:- Option-C
Question57:-
A:-loose dog
B:-rigid dog
C:-pinion wheel
D:-None of the above
Correct Answer:- Option-C
Question58:-The expanded form of DRDP
A:-District Revenue Department Programme
B:-Direct Rural Development Planning
C:-District Rural Development Programme
D:-District Rural Department Planning
Correct Answer:- Option-C
Question59:-How many types of tensions are there in a typewriter?
A:-2
B:-3
C:-4
D:-5
Correct Answer:- Option-B

acts as an agent between escapement wheel and carriage rack.

Question60:-The symbol " and " (&) can be typed in a typewriter by pressing Shift key and

A-7

B:-6

C:-5

D:-4

Correct Answer:- Option-A
Question61:-Henrik Ibsen a Norwegian

A:-playwright

B:-playwrite

C:-playright

D:-playwriters

Correct Answer:- Option-A
Question62:-Shakespeare's works

A:-are exploring

B:-explores

C:-is exploring

D:-explore

Correct Answer:- Option-D
Question63:-Please pass me the paper,

A:-do you

B:-won't you

C:-are you

D:-can you

Correct Answer:- Option-B

? (Use correct question tag)

is famously known as the Father of Modern Drama. (Choose the correct word)

the entire range of human spirit. (Use the correct verb form.)

Question64:-"Will you pay fifteen dollars for me?" Martha asked grandfather. (Choose correct indirect speech sentence of it)

A:-Martha asked grandfather that he would pay fifteen dollars for her.
B:-Martha asked grandfather whether would he pay fifteen dollars for her.
C:-Martha asked grandfather whether he would pay fifteen dollars for her.
D:-Martha asked grandfather would he pay fifteen dollars for her.
Correct Answer:- Option-C

Question65:-Find appropriate meaning of the word "Agile"
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A:-Old and weak
B:-Able to move quickly and easily
C:-Slang for a tall, thin person
D:-Disgusting
Correct Answer:- Option-B
Question66:-No other bird is as as the crow.
A:-Cleverest
B:-Clever
C:-Blackest
D:-Blacker
Correct Answer:- Option-B
Question67:-Find the appropriate opposite word to the word "robust"
A:-Satisfy
B:-Vigorous
C:-Frail
D:-Banish
Correct Answer:- Option-C
Question68:-We were watching a new movie. (Choose the correct passive voice sentence of it.)
A:-A new movie was being watched by us.
B:-A new movie were being watched by us.
C:-A new movie were watched by us.
D:-A new movie was watched by us.
Correct Answer:- Option-A
Question69:-The film is about a king ministers betray him. (Fill in the blanks with the correct word.)
A:-Whose
B:-Whom
C:-Who
D:-That
Correct Answer:- Option-A
Question70:-A lot of complaints received. (Use the correct form.)
A:-have
B:-have been
C:-has
D:-has been
Correct Answer:- Option-B
Question71:-"If you run by fits and starts, you won't win the race." Fits and starts means
A:-Very late
B:-In a difficult situation
C:-Puzzled
D:-Unsteadily
Correct Answer:- Option-D
Question72:-The servant could not the cruelties of master. Complete using appropriate phrasal verb.
A:-go on
B:-put up with
C:-call at
D:-get back
Correct Answer:- Option-B
Question73:-If | had a pen | you. (Use the correct form.)
A:-Would have given
B:-Would have been given
C:-Would give
D:-Would be given
Correct Answer:- Option-C
Question74:-Today was the slack time of the month. (Find meaning of the phrase "slack time")
A:-A time when there is enough time to play
B:-A time when there is not time to work
C:-Very busy time
D:-A time when there is not much work
Correct Answer:- Option-D
Question75:-A gust of (complete it suitably)
A:-Waves
B:-Wind
C:-Stones
D:-Water
Correct Answer:- Option-B
Question76:-He is MLA from Gujarat westernmost state of India.
A:-A, the
B:-An, the
C:-The, of
D:-The, the
Correct Answer:- Option-B
Question77:-Mohandas Karamchand Gandhi was born Porbandar, a town Gujarat.
A:-on, in
B:-at, in
C:-at, of
D:-in, at
Correct Answer:- Option-B
Question78:-"in service with Indian Navy / is the first to be built in India / an aircraft carrier / INS Vikrant" (Choose a meaningful sentence using these
words form the options given)
A:-INS Vikrant, is the first to be built in India, an aircraft carrier, in service with Indian Navy
B:-An aircraft carrier, in service with Indian Navy, is the first to be built in India - INS Vikrant
C:-In service with Indian Navy is the first to be built in India - INS Vikrant, an aircraft carrier
D:-INS Vikrant, an aircraft carrier in service with Indian Navy is the first to be built in India
Correct Answer:- Option-D
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Question79:-Neither Raju his friends to market everyday.

A:-or, go

B:-nor, go

C:-or, goes

D:-nor, goes

Correct Answer:- Option-B

Question80:-Read the following passage and answer one question given below.
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"Nelson Mandela has become South Africa's first Black President after more than three centuries of White rule. Mr. Mandela's African National

Congress (ANC) party won 252 of the 400 seats in the first democratic elections of South Africa's history."

How many years did the White people rule South Africa?

A:-More than 3000 years

B:-More than 300 years

C:-More than 3100 years

D:-More than 1300 years

Correct Answer:- Option-B
Question81:-&eaelk agim alBETIM MLAIMAID alBo GHEMEIDE

A:-allanane

B:-wao

C:-ayoym

D:-e6 @6

Correct Answer:- Option-B
Question82:-wrlwow aio &:eMmIme,

A:-gusjmemad

B:-gauseread

C:-gawmsmm

D:-gowerzem

Correct Answer:- Option-A
Question83:-4lo@ agam aIBETIBEO lRPWALPOEDDY GHEMRIDE:

Ai-ai@o

B:-aieo

C:-aidepgo

D:-@(ménﬂo

Correct Answer:- Option-D
Question84:-emgow emoaul desmreEDeE:

A:-eoudl - eooudlend

B:-commuim - eommol

C:-@o@l - @o@lerm

D:-26moa] - semocmiad]

Correct Answer:- Option-B
Question85:-allaimilm «lldleaig@emiond

A:-aller + adlm

B:-aflaindl + ™

C:-alleirdl + @

D:-aflecndl + @

Correct Answer:- Option-C
Question86:-
1. eeo@mle X emuveniel
2. eaudeiee X emuveiep
3. eaowdlele X equnwdleln
4. 968Wa0s X BAVDWa0.

A:-1, 4 emqoeny

B:-2, 3 emgosy

C:-3, 4 emqoeny

D:-2, 4 emgoemy

Correct Answer:- Option-A
Question87:-wdwow Q@ &eMIDd.

A:-dleaiee ol B eRWTle:rdlesmenramosm’

B:-myeuqge @:6uae caidam’ auadlgpacsm elaflme

C:-mdieloe! algmaidate @@ clmaciaao

D:'UGEI'S@O(OD@) HISIMNHHOS mD%&SmQrﬂ%:ﬂ; @eAN GQU6Mo

Correct Answer:- Option-C
Question88:-erlecme? aldlesg@e.

A:-apale + @rere

B:-apoilecn + @rers’

C:-an@le + omosns’

D:-@anie. + @’

Correct Answer:- Option-D
Question89:-'memealngs’ ag eewelyes @oAO.

A:-Qisd g eosese

B:-@rdmzow] &8s. aloqs

C:- gl mwlemns

D:-anolm ecgs. 90Qe

Correct Answer:- Option-D
Question90:-"emosm adlemmO@d ajoo m%" ag)M alPeILIBO0 @RAMON. HEMRIDE:

A:—@nsés)ngoro% Af)I® OPWo mm(ﬂ_rgo @M MVIDOERo

B:-@rop@edle:und e alemeslwonk alemgemeodss

C:-@RWOEBRUY BGBAOM GO aloslEso

D:-emo6rm] acdloemiod esmeaisems

Correct Answer:- Option-B
Question91:-@aeme aga aleewlm@eo Aladlmaice

A:-@eslmo

B:-gauerno

C:-@growo

D:-gottdro

Correct Answer:- Option-B
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Question92:-"2a00mo® @REIO@ETmS @SIAIM" BajBe BEMRIDE:.

A:-2a0000@0

B:-2an0we0eind

C:-2a00w00ai

D:-aa0o@Q@i

Correct Answer:- Option-A

Question93:-codenaieow emomm emoalwoimme GPWIWBE - CaISH: alBRIEREMIU3
A:-eod malasan e:oleew emossm emoelwowiame @pwoudes

B:-codl® o888 a:clesw emaesmm emoelwiwiaan @ewaudes

C:-codlad OB SO MR emoelwoaiman @o@oudes
D:-eodlmeo gmim msasm e:cleow emomsm e@oelwidcme @rwoudes’

Correct Answer:- Option-C
Question94:- o aiBe HEMIDS,.

A:-coiemudle

B:-eueples

C:-auemuwles

D:-caiegile

Correct Answer:- Option-C
Question95:-gsomldeqsoomo) eemeeme

Ai-@ralo - S:0080

B:-eawoo - alld:@o

C:-@6ni@l - @@

D:-eammo - eimo

Correct Answer:- Option-D
Question96:-'@rreem.’ MUEIMaIGe HEMMEELE:

A:-oyBepdo

B:-ogoouoe

C:-ojomome

D:-odmocoe

Correct Answer:- Option-D
Question97:-'eaguoiogp OBIMREES @PA0®:00.’ - BQajGe a)SD:.

A:-waoe

B:-wlac.

C:-wlaow

D:-@lecims

Correct Answer:- Option-B
Question98:-ccimeo + @RWNIG. GaIBETTED S

A:-aaigRomnooe

B:-caimzos000

C:-coimeon0e.

D:-gemommagy

Correct Answer:- Option-C
Question99:-mlmrwd, 2008, ®MEIM, BSA GSOBIT HalSITT.

A:-oamyeond

B:-m0003

C:-@sd

D:-leanud

Correct Answer:- Option-A
Question100:-'You can't find peace by avoiding life'
BRI lElRIYU aF@Iem?

A:-auaowome eidlenemensl@d lanud dlalom. aglanaeme

B:-glallmeomee cumowomeomege mlsanudss’ aglanenomoslg)

C:-glalloeomoge @Jwommaosny mumawomaje 8Flanenamosal

D:-glallone @dlangs] mlaaBpudes” mmowome &eemRamomossis)

Correct Answer:- Option-D
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